Math 9 — Unit 6 — Word Problems

Solve the following word problems:
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The number is \t"

2) The length of a rectangle is twice that of the width. The perimeter of the rectangret . What is the
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The width of the rectangle is Ll' cm

3) Marcus, Sally and Sammy decided to share 20 sweets. Marcus took 8 sweets and Sally took three times as
many as Sammy. How many sweets did Sammy receive?
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Sammy recejved sweets. L\
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4) If the gym of three consecutive numbers i |s 72, what is the largest number?
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5) Andy is 2 times younger than his sister and his father is 25 years older than him, If the total of their ages is 53

years, what is Andy's age and his father's age? + S _‘_t- 5‘ 3
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Andy is _, years old and his father is years old. L.\ 1 __.?
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6) The length and bwemeie-of a rectangle are (x + 5) cm and 3 cm respectively. Find the value of x if the area of
the rectangle is 42 cm?.

S H_/wa

L3 A= Geror’S
CR ‘{2‘ Q)C-\-SB*%"%‘

7) Carol is y years old and her daughter is 25 years younger zﬁ x Q‘
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Find Carol’s present age if the sum of their ages in 6 ears time is
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8) Diana buys 20 apples at x cents each and 40 oranges at x + 10 cents. She p them i 'qto bags containing 5
apples and 10 oranges and sells the bags for 20x cents each. . \9-

Find @e amgunt that Diana paid for each apple if she pbtajged a total of M= from selling all_the fruits.
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The apple cost \L\Q cents each \&m %Qx 6OX L\m

$1UD i&%@ 20x- 0
A0=100 T O20 ent




